
Copyright©2019 Herbeau Creations. All rights reserved. All products and specifications are subject to change without notice. Herbeau Creations is not 
responsible for typographical and / or dimensional errors. Typographical errors are subject to correction. 

 

 2277 – ‘Pompadour’ Pressure Balance Valve 
 

 

Part # Description 
 

01 

02 

03 

04 

06 

07 

08 

09 

10 

 

01 

02 

03 

04 

05 

06 

07 

09 

11 

12 

13 

14 
 

 

 
 

TRIM 

Mounting Plate 

Finished Screw 

Lille Wall Plate 

Nylon Separator 

Handle Screw 

Pompadour Handle 

Small Washer 

Locking Nut 

Handle Stem 

ROUGH 

Screw 

Stem 

Collar 

Screw 

Face Plate 

O-Ring 

Modular Cartridge 

Collar 

Hex Collar 

Hex Nut 

½” Handle Ext. Kit 

¾” Handle Ext. Kit 
 
 

 
Technical Information 

 

 Controls temperature. 

 For ½” rough pressure balance valve. 

 Available finishes are French Weathered Brass (47), Polished 

Chrome (48), SoliBrass (49), Lacquered Matte Black Nickel 

(50), Old Gold (52), Old Silver (53), Polished Brass (55), 

Polished Nickel (56), Brushed Nickel (57), Satin Nickel (60), 

Antique Lacquered Copper (67), Antique Lacquered Brass 

(68), Weathered Brass (70), Lacquered Polished Black 

Nickel (71) and Lacquered Polished Copper (80). 

 Please See Cleaning Instructions: 

http://herbeau.com/CleaningAll.pdf  For Finish Care and 

Maintenance Information. 

 
Please follow example when ordering parts for Pompadour Pres. Bal. 

Valve 

 
 To order part#07 – Pompadour Handle 

 

o 990662xx 
 

 Please substitute finish number needed in place of XX 
 
 

 

http://herbeau.com/CleaningAll.pdf










1 | P a g e  

 

2277 TRIM INSTALLATION 

TOOLS NEEDED: 

Slotted Screwdriver        Rubber Mallet 

Phillips Screwdriver 

Small Adjustable Wrench 

1. Remove black plastic wall guide from 2277-R valve and set aside: 

 
2. Remove #2 white plastic stem from rough with Phillips screwdriver and set aside: 

     



2 | P a g e  

 

3. Take #10 handle stem and press onto valve center nipple:                             

 
4. Take #1 plate and place it over #10 handle stem onto valve with counter-sink holes and 

all-thread facing up. Secure it snug to the valve with (2) #2 slotted screws:                         

                      
 

         
 

 

 

 

 

 



3 | P a g e  

 

5. Take #3 wall plate and place it over valve with Froid (cold) and Chaud (hot) aligned 

horizontally with cold and hot valve inlets: 

 
 

 

 

6. Take #9 locking nut and thread onto #1 plate all-thread to secure #3 wall plate to valve. 

Tighten # 9 locking nut with adjustable wrench taking care to keep Froid and Chaud 

aligned with inlets: 

                                                           

7. Install #4 nylon separator onto #10 handle stem.  

  



4 | P a g e  

 

 

 

 

 

8. Slip #8 washer onto #6 slotted screw and insert #6 slotted screw into center of #4 nylon 

separator and secure snug with slotted screwdriver. 

 
 

9. Take #7 handle and place over #4 nylon separator and press handle tightly or, if 

necessary tap it onto #4 nylon separator with rubber mallet until it is securely fastened. 

 
10. Trim is now installed. 

 

 

 

 




